
D
esign and m

aterials can be changed w
ithout notice. Errors and om

issions excepted
Revision 00 dd. 06.09.2023

Werkstoff / Materials
Nr. Bauteil/Part Werkstoff/Material
1 Bolzen / Bolt A193 B8M

2 Dichtungsring / Sealing piece Cu Alloy
3 Schraube / Screw SS316
4 Deckel / Cover F316
5 Dichtung / Gasket Graphite + SS304
6 Sieb / Screen SS316

7 Gehäuse / Body 1.4408

Abmessungen / Dimensions [mm]

DN L
D D1 D2 B

f
N-Ø

H Kv A-C M
PN16 PN40 PN16 PN40 PN16 PN40 PN16 PN40 PN16 PN40

15 130 95 95 65 65 45 45 16 16 2 4x14 4x14 70 7 45*35 M16*1,5

20 150 105 105 75 75 58 58 18 18 2 4x14 4x14 85 11 50*40 M16*1,5

25 160 115 115 85 85 68 68 18 18 2 4x14 4x14 98 18 55*45 M16*1,5

32 180 140 140 100 100 78 78 18 18 2 4x18 4x18 105 26 60*50 M16*1,5

40 200 150 150 110 110 88 88 18 18 3 4x18 4x18 125 37 75*65 M27*2

50 230 165 165 125 125 102 102 20 20 3 4x18 4x18 135 60 85*75 M27*2

65 290 185 185 145 145 122 122 18 22 3 4x18 8x18 157 100 105*90 M27*2

80 310 200 200 160 160 138 138 20 24 3 8x18 8x18 180 150 125*110 M27*2

100 350 220 235 180 190 158 162 20 24 3 8x18 8x22 230 230 145*130 M33*2

125 400 250 270 210 220 188 188 22 26 3 8x18 8x26 277 330 170*155 M33*2

150 480 285 300 240 250 212 218 22 28 3 8x22 8x26 325 400 210*190 M33*2

200 600 340 375 295 320 268 285 24 34 3 12x22 12x30 410 650 260*235 M33*2

250 730 405 450 355 385 320 345 26 38 3 12x26 12x33 515 1200 330*305 M33*2

300 850 460 515 410 450 378 410 28 42 4 12x26 16x33 615 1900 385*360 M33*2

350 980 520 580 470 510 438 465 30 46 4 16x26 16x36 675 2580 435*410 M33*2

400 1100 580 660 525 585 490 535 32 50 4 16x30 16x39 780 3345 490*465 M33*2

Merkmale / Features
D • Y-Schmutzfänger Flansch 

• Flanschanschluss PN16/PN40, EN 1092-B1
• Baulänge nach EN 558-1 Reihe 1
• Temperaturbereich: -40°C bis +450°C
• PED2014/68/EU, Annex III, Module H
• AD2000 A4
• Test EN 12266

E • Flanged Y-type Strainer
• Flanged connection PN16/PN40, EN 1092-B1
• Face to face according to EN 558-1, Line 1
• Temperature range: -40°C upto +450°C
• PED2014/68/EU, Annex III, Module H
• AD2000 A4
• Test EN 12266

copyright © by
FERGO® Armaturen GmbH

Blindeisenweg 31			 
D-41468 Neuss

Tel.: +49(0)2131 - 15 39 28-0		
Fax: +49(0)2131 - 15 39 28-99		

Web: www.fergo.eu	
E-Mail: info@fergo.euMY450


